08-AUG-2017 Shift-1 (Mathematics)

QUESTION : 1 - How many numbers are there from 300 to 650 which are completely divisible by
both 5 and 7?

Options:
(A) 8
(B)9
(C)10
(D) 12

QUESTION : 2 - Raman can do a work in 5 days, Jatin can do the same work in 7 days an in
can do the same work in 9 days. If they do the same work together and they are pai 60
then what is the share (in Rs) of Raman?

Options:

(A) 1260

(B) 700 ‘ ’
(C) 900

(D) 870 1 Py

QUESTION : 3 - If the diameter of a sphere is 14 cm, th@ is'the surface area (in cm?) of the

sphere?

Options: O
(A) 616

(B) 308

(C) 462
(D) 636

ssive discounts of 20% and 35%, an article is sold for Rs 50700.

QUESTION : 4 - After two s
i of the article?

What is the marked pri

Options:
(A) 92

( 0
(C) 9750

(D) 94000

QUESTION : 5 - Rs 3200 is divided among A, B and C in the ratio of 3 : 5 : 8 respectively. What is the
difference (in Rs) between the share of B and C?

Options:
(A) 400
(B) 600
(C) 800




(D) 900

QUESTION : 6 - The average of 5 members of a family is 24 years. If the youngest member is 8
years old, then what was the average age (in years) of the family at the time of the birth of the
youngest member?

Options:
(A) 16

(B) 20

(C) 24

(D) 32 Q

QUESTION : 7 - If the price of pen decreases by 20%, then a man can b@re pens for Rs 100.
What is the new price (in Rs) of each pen?

Options: L.
(A)1

O
O

(D)5

QUESTION : 8 - After deducting 60% certain number and then deducting 15% from the
remainder, 1428 is left. What was initial number?

Options:
(A) 4200
(B) 3962
(C) 4150

QUEST : 9'- A train travels 40% faster than a car. Both start from point A at the same time and
B, 140 km away at the same time. On the way the train takes 25 minutes for stopping
at the stations. What is the speed (in km/hr) of the train?

Options:
(A) 67

(B) 134.4
(C) 145.9

(D) 160




QUESTION : 10 - A certain sum of money triples itself in 5 years at simple interest. In how many
years it will be five times?

Options:
(A)5

(B) 8
(C) 10

(D) 15

QUESTION : 11 - If x + (1/x) = 2, then what is the value of x5* + x21?

Options: Q
(A)O

(B)1 ‘ )

(€) 2

(D) -2 )

QUESTION : 12 Q
QO

If x=6+2J§,then what is the value of x-1+ ?

1
D=1’

I x=6+2/6, arJx-1+

Options: ‘by
(A) 2v3

(B)3

& AT HT &2

1
Jx—1

(C)2

(D) 3v3

QUESTION : 13 - Ifa + b + ¢ = 27, then what is the value of (a—7)* + (b -9)* + (c - 11)}-3(a-7)(b -
9)(c-11)?

Options:
(A) O

(B)9

(C) 27




(D) 81

QUESTION : 14 -

215 . x +/5 x+J_
—————  then what is the value of
J§+\f5 K== \/_ X—+/3

_2J_ X+ng+xf_
afg x SJ-H‘T e e

Options:

(A) V5 Q
(B) v3 ‘ )
(C)vis

if x=

T AT FIT &2

(D)2

QUESTION : 15 - The perimeter of an isosceles triangle and each of the equal sides is 5/6
times of the base. What is the area (in cm?) of t ﬂ gle ?

Options:

(A) 39

(B) 48

(C)57

(D) 64

QUESTION : 16 - If | f side of a rhombus PQRS is 8 cm and 2PQR = 120°, then what is
the length (incm) o

(D) 12

QUESTION : 17 -




In the given figure, ABC is a triangle. The bisectors
of intemal £B and extemal ZC interest at D. If
ZBDC =48°, then what is the value (in degrees) of
ZLA?

& % i #, ABC e NS ¥ «B qur @@
£C @ fewrsiw g D ufa=dg aar ¥ afx
/BDC=48° &, ar £A & AT (el o) @ar &2

Options:
(A) 48

(B) 96

(C) 100

(D) 114

QUESTION : 12- ‘ a




In the given figure, O is the centre of the circle and
Z/DCE = 45°. If CD = 1042 cm, then what is the
length (incm) of AC . CB = BD

& 8 gfa A, Oga & &g &, W LDCE = 45°
g afe CD = 102 ¥.A. & at AC fr TS
@3 A) F &2 CB =BD

A

E

O

D

C
-

Options: O

(A) 14

(B) 15.5 m

(C) 18.5 %

(D) 20

QUESTION : 19 - ‘b
4

What is the simplified value of —2N24

1+cos2A

sin2A
—_— Pl GZHI@?—I HAAT FOT &2
1+cos2A %

Options:
(A) tan A

(B) cot A

(C)sin A




(D) cos A
Correct Answer: tan A

QUESTION : 20 -

2
What is the simplified value of | — 2¢A ?
cotA+tanA

( == szuﬁﬂﬁrmm%?

cotA+tanA

Options: Q
(A) 1 - cos2A ‘ : i
(B) 2sin2A

(C) sec2A o

(D) cosec2A

QUESTION : 21 - What is the simplified value of @A tan (A/2)?
Options:

(A) sin A/2 Q

(B) cos A
(C) sec A

(D) sin A

QUESTION : 22 - ‘b




The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.

There are total 1200 shoes.

4w a1 g9 R # v sgevs g W5
fafee oSt & ST T TEAr F AT T g
Tgr FoT 1200 S B

Puma/ Vans/
3=
X 13%
21%
didas/
Nike / 559
ATShT ;
18% Reebok/
FIEICT
23%

How many shoes are there of R m?

Options:
(A) 230
(B) 276

(C) 286 ‘b
(D) 216 $
Q 123




The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

4w a1 g9 R # v sgevs g W5
fafee oSt & ST T TEAr F AT T g
Tgr FoT 1200 S B

Puma/ Vans/
3=
X 13%
21%
didas/
Nike / 559
ATShT ;
18% Reebok/
FIEICT
23%

What is the difference in numb mf Puma and Vans?

Options:
(A) 96
(B) 156

(C) 84 ‘b
(D) 112 $,
Q 124




The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

4w a1 g9 R # v sgevs g W5
fafee oSt & ST T TEAr F AT T g
Tgr FoT 1200 S B

Puma/ Vans/
3=
21% %
(4]
didas/
Nike / 550,
AT :
18% Reebok/
FIEICT
23%

The difference between the nu f;es of Reebok and Nike is same as the difference between
which of the following two ?

Options:

(A) Puma and Adida
(B) Reebok and Adidas
(C) Vansgand




The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

4w a1 g9 R # v sgevs g W5
fafee oSt & ST T TEAr F AT T g
Tgr FoT 1200 S B

Puma shoes are how much per

i
21%

Nike /

TS

18%

Puma/

Vans/

=g
13%

didas/

ufssr
25%

Reebok/

FICIED
23%

man the Nike Shoes?

Options:

(A) 14.28

(B) 16.66 (b

(C) 25 $

(D)21.33 )
Questions Questions | Answer | Questions | Answer | Questions | Answer | Questions | Answer
1 C 2 A 3 A 4 C 5 B

B 7 B 8 A 9 B 10 C

11 A 12 A 13 A 14 D 15 B
16 C 17 B 18 C 19 A 20 A
21 C 22 B 23 A 24 C 25 B




